Nl Al

= 0 &8 AF &S B

Al

oF
R’

ok
o]

(a5 [<e] (@] o o o o o o o o o N o o o N (@)}
(@) N~ ™ (@] (@) (@] o o o o [eg] o o o [eg] ™
— Lo P~ Ye) Y9) L0 o o o (@) (V] o o (@) [aV] Al
o | < S|lw| == ~ [~ Sl|o s|Sls S o |
N © (V] N~ — A A — — o o Lo N~ (ee) — Al Al
«© (92
H | < <
D
[e0] N~ Lo o o o o o o o o (] L o o o Lo Yo}
QN [®)) Q — o o — — () o ()} o o o (D) D
— o N R B NN 2= Y B < —| =
Har | < @ © RN ® (@
LTI &8 ~ @ A
RIS
L3RS as8xH|I[(2l8l8 8 8|lg|1228|8|88|8|88[3es|le8e88 888|335 ¢ XS
SANSANOWI®O SO~ NIBB B S|ld|d A o158 915|859 I¥I515 5 6 9 5 S |F (¥~ 00 o F
M O M ANANNT O W N (e 0] —_ — — N~ N~ © — o o O o o O 0] o o O O O O O [e0] O A MO O M M
© O O o — < n g o — Ye) Al Al [V aV] © — — — D T NN = ™
3 b—-<F o ol o—o|< o @l o = ,
|.,A||_ <t — AN ™ [qV]
=)
mr ~ 1 W M ~ W
oir
X0
Y o) o7
. — X
oL o o %0 o &
< H M = o 31 OH
I+ = R N = o
= = oo K <F 7 — ol ~ D
: il F " o - ) ™ od o
= ok BORE = o D o S| 80 Hio - ulo
= o =< 2 Rl 0B 00 0 =
ol Al ol - <l n oy
ol oM 70 oy 10 o K 51 oo U0 PR W U
o 1 0 Rl a1 o o- < K =| = = o o R ~
i) = |z 3 o 5|5 |8 R HI|nls|s < 5 4 20 |m|- m = =
Y a CRRCE R - o el S mE|E . KR bl aK W < 2
a | w22 = SROM| KRR R B BT R 30 4 B | %0 @ W=
. W = || ® @ ® Sl T O B I e T T = L T
wl o Wlaot @ |55 R W0 IR R|RD|A S|z 3|00/ R M AW YO O
RO A B [W|oN|< O O|3 | O O|a|< Ofallal O |al|< O O M O Ofal|s O
: = ol o[ R = | = o | = o | » ~ | oy A N — | -
z |3 = Koo & | &< & 1|° 8| RIK|® < S|~
| < B o | = i
R0 i) =
o A0




M-8 SRI(310) - MRAY - BeS sl e HlRE2
O&2=+¢ 139,554
OJHAIXI &l 238,974
Osd=¢ 255,600
O EF Ot 159,440
o=l 175,200
-5 14,400
-2 Xl 4,800
PN 156,000
OJE=¢ 11,520
—bi = Xt 7,200
-2 2I=E 4,320
O==t| 85,200
OXxa= 50,000
OdXIZEH ¥ UalF Iyl 515,700
OdXZ&Hl 256,700
—=U=# 99,200
-=22&# 157,500
O3l &t 259,000
_ay 124,000
29 135,000
HEUSR st & d= |4 720,000 0
703 W=HSEIHEES 720,000 0
01 NSHEEAHEES 720,000 0
OBURE=s dEsH 160,000
O&BLIRE W NE2Z 560,000
HMEIILAIL &5 17,819,352 4,267,400
= 9,400,000
= 8,419,352
SN =5 8453} 15,152 15,152
201 et 2,000 2,000
01 AtS 22l 2,000 2,000
OXM=A4 HI M 2,000
202 O4Hl 13,152 13,152
01 =LA b 13,152 13,152
OSENMSALEY HEs & HEEH 7,102
OZZHESAE SHEMY =8 6,050
S3HSAE &= 3,600,000 A815,152
403 XX S HS =01 A 3,600,000 800,000
01 MXEMA=2E X 3,600,000 800,000
OZ3ZHSAE &= 1,600,000




A H

o
HH: s HS LAC AE(SSUB/HS)
M
=

Sl RISIIPAIL =S (oA
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2

OLATUHKUS X (SH) 2,000,000

AF ZeHSY A (21) 1,466,800 3,230,200 A 1,763,400
= 1,000,000
= 466,800

403 KX SHSKHZ0IH 1,466,800 3,230,200 A 1,763,400
2 1,000,000
< 466,800

01 RXSHR=LE 1,466,800 3,230,200 A 1,763,400
ORFZHSY Y 1,466,800
z 1,000,000
= 466,800

AF ZER2EF 22U (21) 2,000,000 0 2,000,000
2 2,000,000

403 KX SHHIS X201 H 2,000,000 0 2,000,000
z 2,000,000

01 RXESHHR=LE 2,000,000 0 2,000,000
Ofx ZE2sT 2122y 2,000,000
2 2,000,000

LE SEASALLR FH(2D) 293,400 0 293,400
2 200,000
< 93,400

403 KX SHH S X201 H 293,400 0 293,400
2 200,000
< 93,400

01 XX A X2 2 X 293,400 0 293,400
OLE ZSMSALHX Hy| 293,400
2 200,000
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= 1,500,000
& 700,000
01 AXESHMA2EE 2,200,000 3,400, 100 A 1,200,100
OA2 AIOIZ2ZINE HE 2,200,000
= 1,500,000
= 700,000
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02 Z2I|&S0HICHSHH &AM B 1,000,000 0 1,000,000
OSHAZEAIE fE22 1,000,000
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J| 183,000
= 9,912,977
T Ao HECHM 29 - A& 8,747,000 7,006,430 1,740,570
307 212t01A 8,747,000 7,006,430 1,740,570
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= 31,600
01 RXSHBABES 189,600 0 189,600
ATX2Y ALY 189,600
| 158,000
= 31,600
RONQIHS 245t 54,965 1,569,507 A1,514,542
202 01t 4,765 4,765 0
01 =2Ujoit| 4,765 4,765 0
OB HSES X 4,765
307 2120/ H 50,200 1,535,742 A1,485,542
04 DIRISALRE 50,200 74,000 23,800
OFOHQ HSHE X2 50,200
MS0H8 HE L &It 1,035,000 1,245,000 ~210,000
307 212+0IH 1,035,000 1,245,000 £210,000
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CEEEEIES I E 5] 90,000
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OMEHS S HE X 160,000
OB ZAMBHSH &It 45,000
MS0s 23 19,412 20,012 600
201 Yer2g| 2,000 2,600 A600
01 AtR2elt| 2,000 2,600 600
OUSIRB AT & 4% S M 2,000
202 01t 17,412 17,412 0
01 =Uoit| 17,412 17,412 0
OXMSUE Nz L EIINY 16,412
OMSHH |4 X2 1,000
ZoNl MBHSHSE M (2D) 50,000 50,000 0
o] 25,000
= 25,000
307 I2H0I® 50,000 50,000 0
| 25,000
= 25,000
04 DIRSALRE 50,000 50,000 0
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& 129,464
MEHNSX A BHX(21D) 1,182,432 899,904 282,528
J| 1,182,432
308 XMXISHHSOIN 1,182,432 858,048 324,384
J| 1,182,432
01 MIXSHHIBAMNEEZ 1,182,432 858,048 324,384
OMEHMFAIEZA BHX 1,182,432
J| 1,182,432
24 H=gs XN (21D) 500,416 312,064 188,352
J| 469,952
== 30,464
307 QIZtol & 60,928 60,928 0
J| 30,464
= 30,464
02 OIZ2ZtEAAME X 60,928 60,928 0
ozd Msgs Ad 60,928
J| 30,464
& 30,464
308 AtXIEHHI SOl 439,488 251,136 188,352
J| 439,488
01 AXEMIMNEEZ 439,488 251,136 188,352
onEn H=egs A& 439,488
J| 439,488
HESHSH AYEAIE(=21) 144,000 100,750 43,250
J| 120,000
= 24,000
308 AHXIEHHI SO A 144,000 100,750 43,250
J| 120,000
o= 24,000
01 IXSHHIBAMNBEEZ 144,000 100,750 43,250
OAZXHISH AMYEAL 144,000
J| 120,000
= 24,000
MEHsZz O 29 75,000 0 75,000
308 AXIEHHISOI A 75,000 0 75,000
01 IXSHHEAMNBEEXZ 75,000 0 75,000
oMtz )d & Meijswna XA 75,000
g 2M0Es 2435 117,000 68,820 48,180
ZHASURE 117,000 68,820 48,180
201 LBr2AH| 21,900 15,650 6,250
01 AIR&2|H] 2,300 4,070 AN1,770
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omAd =ol2 2EXNW 33,600
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= 5,600
OISHALEZM NAYES 10,000 0 10,000
| 5,000
= 5,000
307 2I2H0IF 10,000 0 10,000
| 5,000
= 5,000
VETEPEES 10,000 0 10,000
OOSHAUIH NAESS 10,000
o] 5,000
= 5,000
HAEES U HE BS 3,419,766 3,013,013 406,753
2 827,250
2 275,000
| 1,162,778
= 122,000
= 1,032,738
HAEES 2 HE BSYSP 5,573 2,873 2,700
201 Yer2 ) 3,000 300 2,700
01 ALR eIt 3,000 300 2,700
OB DEANRIIAS AR+L 3,000
202 01t 2,573 2,573 0
01 =2Uoibl 2,573 2,573 0
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ostmEe (YT 15,000
OstnYY (HOrZZ I 10,000
04 DIZISAIEE 9,000 10,000 A1,000
OLHMLX SOISEH 9,000
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SA: HSHAAD
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HAad SH(MIEX/=0 - F3AH)
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307 212t0|A 474,068 450,000 24,068
J| 237,034
& 237,034

02 QI2tHAE X 474,068 450,000 24,068
OSII&H (200 4) 278,300
J| 139, 150
= 139, 150
CETSPIEISICIEN) 195,768
p] 97,884
c 97,884

HAEHSSHE X 2H(=21D) 218,000 262,250 N44,250
J| 163,500
& 54,500

307 212t0| A 109,000 106,000 3,000
J| 54,500
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J| 109,000
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CEPSEEETIET 275,000
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HAERHEY WA (2D) 36,000 0 36,000
= 18,000
= 18,000
307 Q1201 36,000 0 36,000
= 18,000
= 18,000
02 pIABNBE 36,000 0 36,000
OHAURHSYLAEG DDA 36,000
= 18,000
= 18,000
Forgad Xg NV(2D) 150,000 0 50,000
= 105,000
= 45,000
307 QI2H0|H 150,000 0 50,000
= 105,000
= 45,000
RN EES 150,000 0 150,000
oMM SCEUE 2Y 150,000
= 105,000
= 45,000
HAd 2pAL 25 5,473,516 7,878,516 2,405,000
=2 231,000
3 4,358,000
= 884,516
HAd 2pAL BB 1,620 2,020 A400
202 01| 1,620 1,620 0
01 =2Uloibl 1,620 1,620 0
OBAELHUANY PLEX 1,620
HEXS FAESHAL A 2,296 2,296 0
202 01t 2,296 2,296 0
01 =Ujoi | 2,296 2,206 0
OBAETSME 2B £F S 2,296
HAELBAL B4(2D) 1,886,000 2,750,000 864,000
= 1,886,000
403 XXM SRHZOIE 1,886,000 2,450,000 A564,000
3 1,886,000
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3 1,720,000
= 40,000
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=l 352,000
= 9,600
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01 MXSAX2LSE 361,600 1,099,200 AT737,600
OFAE239F 2 361,600
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= 9,600
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01 Al 894,000 0 894,000
O¥He 4T SHUAL =5 894,000
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02 2l 100,000 0 100,000
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03 Al&SOHH] 6,000 0 6,000
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